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General Instructions :
(i) There are total 26 questions in five sections in the question paper. All questions
are compulsory.
(ii) Section A contains questions number 1 to 5, very short-answer type questions of
1 mark each.
(iii)  Section B contains questions number 6 to 10, short-answer type I questions of
2 marks each.
(iv)  Section C contains questions number 11 to 22, short-answer type Il questions of
3 marks each.
v) Section D contains question number 23, value based question of 4 marks.
(vi)  Section E contains questions number 24 to 26, long-answer type questions of
5 marks each.
(vii)  There is no overall choice in the question paper, however, an internal choice is
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provided in one question of 2 marks, one question of 3 marks and all three
questions of 5 marks. In these questions, an examinee is to attempt any one

question out of the two given alternatives.
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g - A

SECTION - A

1. 34 Yefigifies 37gehm =t forflau fs@ EcoRI vg=aT 2 | 1

Write the palindromic sequence that EcoRI recognises.

2. Tshild OTeT UATtheflst Tea) & ied | wisHIead SHam] (TRiseed) qHe IR § JaT
H A & | T I § T B AT ST BRI § Ta9 A o T 6T STR@
T | 1

Trace the route of Sporozoite of Plasmodium when it enters the human body through

the bite of infected female Anopheles mosquito till its entry into the R.B.C.

3. T ST a1 S o T o AT Wel o WY o fohegl af Aeguni 31 Tt sy e
IR B J 379 JA H foha | 1

List any two characters of Pea plants used by Mendel in his experiments other than

height of the plant and the colour of the seed.

4. 39 fasr s am forfaw S feri § ush X -Turgs’ & 3197e o R0 BT R | 1
Name the disorder caused due to the absence of one of the X-chromosomes in a human
female.

5. To@ed qen g 4 U 3T fefau | 1

Write one difference between binary fission and budding.
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Huis - B

SECTION - B

6. 38 TR hl wfcrar w1 919 ferfaw S Tersia § 1 o 99T HiS[g Bl 8 | T & o1¢ 07 &
T4 | I B ATl SfoRe ¥ I fohd wer fir @ 2

Name the type of immunity a baby is born with. How is it different from the one he
gets from the mother’s milk after birth ?

7. “fohd 3TT9TE 1 & Tk W 2 |7 Ueh IS <hl FERIAT § GHAET |

“Niche is a part of a habitat.” Explain with the help of an example.

8.  TrHIaRor UfshaAT o SR fepet farfdmse m-3TRuAT & 57 fehR W AUG Wepe a2 3’ fhR w
UAG Jehe i YfHehT ol Ieci@ <hiT |

Ay
‘SUgITEd’ qem ‘areiifies’, A g Sl e forivand § | e Hifvw |

State the roles of AUG codon at 5’ end and UAG at 3" end of a certain m-RNA during
translation.

OR

‘Degenerate’ and ‘Universal’ are salient features of a genetic code. Explain.

9.  SiSTUESHT qUT YOI ST H & @rer Trft I HE H gt B | 3k WuSTid @re ugret
1 ST SIS H hd Bl 8 7

Both nucellus and endosperm have abundant reserve food materials. How is their food
reservoir utilised in angiosperms ?
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10.  Jep1 (IH) = 7 7 Tord) safed o1 Sierrentor 30 Sdenifetss TfeRedm Y o | forl

ThR 1 AT g 7 2

What is a vaccine ? How do they act to provide long term immunity to an individual

who is vaccinated ?

oug - C

SECTION -C

11. TR (gfET) gaft qem aoeft e 8 stean gus ? 310 3T 6 gfee Hifsr | 3

Are humming birds and fish regulators or conformers ? Give reasons in support of

your anSwer.

12. (a) BNAShIfdFATE ? 37 SO ol Iooi@ SHITTT [STTeh HHUT I8 B & HhT |

(b) 38 AR 1 AW feray feeh JmEl & Wi § 715 <6l s fohe w1 forepre wva &t

Hehl | 3

(a) What is green revolution ? Mention the steps that led to it.

(b) Name the scientist whose contribution led to development of semi-dwarf wheat

varieties in India.

13.  GehdTeR Tetdl (ELISA) 1 90 &9 FaT3¥ | T o TG o &¢ aliehl hi 374eT 39 fafer =i
AT I & AT R 7 3

Expand ‘ELISA’. Why is this method preferred over conventional methods of

diagnosis of diseases ?
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14. form Sega &1 s 1§ W@t his 28 ®H wenfud foman Sirar @ 2 26 o ey & fore fafi=
SATTIh TN oh1 U HIfT |

State the objective with which a dairy farm is set up. Describe the essential steps to be
followed for dairy farm management.

15. 39 fawm 6t Trefafy &1 fowar @ sam & foe eifda 9 Sugamar, Sawshfaar aun
T’ Teq] ST ITART fohd wew H fopa 7 = hifg |

Write in what context did Darwin use the terms ‘fitness’, ‘survival’ and ‘selection’
while elaborating on the mechanism of evolution.

16. ST gfqepfa & =fFcrress femrrgerH @ fore saterRh fafire dsmen w1 am ffaw |
34 USIgH ol fafdme werr fafgy | €. wierg e o 3w fafdme wum o 7w fofay swf
Y Ig USAT5H Yfcrehd TohH shl IE3ATA HL Fehl & |

Name the specific enzyme responsible for nucleotide polymerisation in DNA
replication. Write two characteristic features of this enzyme. Name the region on
E. coli DNA where this enzyme can initiate replication.

17. HHE H BIEANTEE & UiTehieh <1 919 foifgu | 3qes g=wor i fafdr qem T & Seqon 61
It HIfTT |

Write the causative agent of filariasis in human. Mention its mode of transmission and
symptoms of the disease.

18. (a) U H MTeET Tehd o foTu sesrentor 1 ueh farfdr w1 a1 forflaw |
(b) &Y UG Tl H eIl UfshaT ST Ui ShIfT |

YT
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(a) T Tt T SO THE G dh SfeasH Td 8 7 3199 I A g & faw @
IR ST |

(b) ORI Sehl T UTAT YT T HUSRUT Hal fohat ST 8 7 7 Shl T TTAT HUT o HISHOT H1
3e¥ AT | 3
(a) Name a terminal method to prevent pregnancy in humans.

(b) Describe the procedure of the terminal method carried in human male and

female.
OR

(a) Do all pollen grains remain viable for the same length of time ? Support your

answer with two suitable examples.

(b) How are pollen grains stored in pollen banks ? State the purpose of storing

pollen grains in these banks.

19.  SATATIehd: TUMAHA T 37 TR H ITAFM & | STAMIehd: TUMHT Tidl i 39 Tal
H I o foTT 319 foReT ot fohd TehR TWeId ? <fiF TeheiTd ShRUT §dTd §C 99T | 3

GM plants are useful in many ways. How would you convince farmers to grow GM

plants on their field ? Explain giving three reasons.

20. 39 Tepieh o1 AT TIRAT ST RIS EITAT SRl SR H EITAT Wel %l o Hid §
TEIH ¢ | 38 qohrileh ol SATEAT iYL | I T 7T 37 STAT Wef i fohd TR <@
qhd & ? 3

Name and explain the technique that helps in the separation of DNA fragments for
DNA recombinant technology experiments. How can these separated DNA fragments

be visualised ?
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21.

22.

23.

57/1/2

Hed gRI HX o Tiei 9T fohT T SRINTH o STEW S i o Srarfhan W fgEest shig s
I 34 Hee o F, TR} o6 S0 F, N1l o SJaTd § sigd 3Af4eh forier 9w g3 | 3
SRIRTH § SITed TROTH hi AT Td 38eh |1 o1 ST & 7

When Morgan conducted dihybrid cross on Drosophila like Mendel did with pea
plants, the F, ratios deviated significantly from that of Mendel’s F, ratio. Write the

explanation Morgan and his group gave to the observations they obtained from their
experiment.

T § eI K AR o W T 3 1Y fa |

Name the male accessory glands in humans and write their functions.

oug - D

SECTION -D

I TH § 3UfIre o1 e aur rufite yaue U St THE | hSl-Ha &
3IdTed Ue 3Heh! HUeH Teh o1 @aU 8, Frdeh afomessy qaierofi Tt amemd 3cq—
BT E | S TrTeRtor dim T Ge=shol G SATSe] oh T T @ | g J1EE 2 foh,
JTTETIRAT 39§14 <l & foh S -Fefentor S/ STafTsei bl 6w foharm ST |

(a) Sa-Teeto 9 smfite & ga § Se-fefieon s smfite & yaem ®
forRi feran i @ 7 =T it |

(b) 319 fqaTe™ & Sehi-FTe T U BH & A1d UH a 3Tl 1 gaa qifte, T
forener™ ® 7EH H T IR Y IR fGaE’ o STRINH § AU 7q 39 Al |
<= ST =T |



Waste Disposal and Waste Management poses a major problem in present times.
Generation of garbage and its disposal is a major threat and consequently leads to
severe environmental issues. The problem is not with biodegradable and recycled

wastes. We realise that the need is to reduce non-biodegradable wastes.

(a) Why is there a great concern of managing non-biodegradable waste in

comparison to biodegradable waste ? Explain.

(b) As a member of eco club of your school, suggest any two ways that you will
discuss with your fellow members to organise for a “Zero garbage day” once in a

month in the school.

T ug - E
SECTION - E

24. T UfRfae o w1 ffe F guiar @ ¢ 9ehfd | fi= bR & 9 St it =
U Tk h Ueh-Teh 3T bl HERIAT § <HIfT | 5

AT

(a) TTH h Afgeepqut wfafafer, & fob foceht Sfoi @1 smsraur, fo@ea qen
e affd 3 Sa-Tafawdar st afa 1 =ia e 2 | T -ue IerEwn il ggrar 8
3 A fag Hifve |

(b) Sa-fafawar & w@eqo & (i) 3E. ... (JUCN) i A1t =it 9o (i) le-Taied
% & Wl Io0i@ HITT | 5

What does an Ecological Pyramid indicate ? Explain the three different types of

upright Pyramids in nature with the help of an example each.

OR
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(a) Indiscriminate human activities such as alien species invasion, fragmentation
and habitat loss have accelerated the loss of biodiversity. Justify by taking one

example of each.

(b) State the importance of (i) [IUCN Red data list and (i1) Hot spots in conservation

of biodiversity.

25. (a) e STFASTS H % SISTV] HIGhIIRITT & HIGT HIGHE o [oeh{&d & o JohH i

T |
(b) T Ut ferenf&ra yuT STt <1 ATHITRA o SHTST | 3+2=5
HAYET

(a) U J&Y I Jeholeh AfcTehl <hl TR h1e 1 afeid fasy st 35 (i) IEHUH
(ii) TTeAt IR (iii) STATHeh [hepIfRTehT AHIfhd AT | T ATHTfhd TaAT T
1 ot SraT3 |

(b) IEhoA (TTHEISHTEE) T YR (Taffsnsafie) o fade s | 3+2=5

(a) Explain the development of female gametophyte from a megaspore mother cell

in an angiosperm.
(b) Draw a labelled diagram of a fully developed embryo sac.
OR

(a) Draw a diagrammatic sectional view of a seminiferous tubule (enlarged) of
human male and label (i) Spermatogenium, (ii) Sertoli cell, (iii) Primary

spermatocyte. Write the function of each labelled part.

(b) Differentiate between spermatogenesis and spermiogenesis.
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26. (a) TSI SR qUT Tfreheddl Th-gEt ¥ fohe TR =1 & 7 i o Th-Th
3T <h! GETIAT § ST Shifoy |

(b) Tereht TEmEfTeR 310 <6 STIAT Tered < 9 H SR W W T BH-HA = wd [
AT =MLY ? 3+2=5

YT

AURE qUT BT gRT IEATad IieheuHT Sa1sY | UH.UA. fier 3 Y= <6l g8rdr 9 36
form R Tirg Topam ¢ =amen Fifs | 5

(a) How are polygenic inheritance and multiple allelism different ? Explain with the

help of an example each.

(b) List the criteria a chemical molecule must fulfill to be able to act as a genetic

material.
OR

State the hypothesis proposed by Oparin and Haldane. How was it experimentally
proved by S.L. Miller ? Explain.
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